Tedcher’s notes

|
| Children choose their own preferred method for solving each of the problems. They use the space

Alfie saw 24 ducks ﬁ .ﬁ - 15 children and 28
and 18 geese on ‘ adults went to the
|

the pond. How many ? park for a party picnic.

birds did he see How many people were
altogether? - at the picnic?

The ice-cream man e ' There are 66 people playing
sold 45 cones and [Sre—s football and 28 people

36 ice lollies.

What is the total - park.How many people

number of items are playing sport in
he sold? the park?

& | playing netball in the

%c‘"{

| below each problem for working out.
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